Purchase Order

TRAVEL FOOD SERVICES LIMITED - BLR

Order Number : BLR/PO/24-25/000255

Supplier Detail	Shipped Location	Invoice Location
AMARDEEP DESIGNS INDIA P LTD Supplier Code: RV242523359 [VEND1194]	TRAVEL FOOD SERVICES LIMITED - BLR BLR T1 - Lounge	TRAVEL FOOD SERVICES LIMITED - BLR BLR T1 - Lounge
KHASAR NO. 163 LAKESHWARI INDL ESTATE BHAGWANPUR, ROORKEE DIST HARIDWAR UTTARAKHAND-247661ROORKEE,Uttarakhand,India(VE ND1194)	Terminal 1, Administration Block, Kempegowda International Airport, Bengaluru, Bengaluru Urban, Karnataka, 560300	Terminal 1, Administration Block, Kempegowda International Airport, Bengaluru, Bengaluru Urban, Karnataka, 560300 GSTIN No : 29AADCB2762L1ZE
PAN No : AALCA6722B Supplier GST No : 05AALCA6722B1Z2 Supplier Contact No : 7506334440 Contact Person Name : CHAITALI Supplier Email : chaitali@amardeepdesign.com	Cost Center Code: 080 Domestic Lounge Phase II Cost Center Name: 080 Domestic Lounge Phase II Project ID: 0 PO Category: Capex NSO	Payment Term : Advance -50% against submission of cancelled cheque . Balance-50% to be paid post completion of delivery and installation and joint certification of completion of work Retention-5% to be released post completion of DLP 6 months PO Creation Date : 05/11/2024 PO Approval Date : 08/11/2024 PO Currency : INR Buyer Name : Binu Balachandran

Sr.No	Item Code	HSN\SAC Code	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	IGST %	Gross Total Amount
1		94039000	Furntiure for 080 Lounge as per mock up approved by BIAL	Furniture for 080 Lounge as per mock up approved by BIAL	D01	1.00	NOS	2,828,500.00	0.00	2,828,500.00	2,828,500.00	18	3,337,630.00
2		9967	Transportation,p ackaging, Loading at Rourkee, unloading at BLR T1, scope shall also include installation of furniture at Airport	Transportation,p ackaging, Loading at Rourkee, unloading at BLR T1, scope shall also include installation of furniture at Airport	D01	1.00	NOS	71,500.00	0.00	71,500.00	71,500.00	18	84,370.00

Total Qty: 2.00

Total Basic PO Amount

2,900,000.00

Total Other Charges

Grand Total PO Amount

IGST Amount

522,000 3,422,000.00

Amount In Words: Rupees Thirty Four Lakh Twenty Two Thousand Only

Remarks :

Standard Terms And Condition: -For any quality issue vendor to arrange for replacement, rectification, modification at own cost, such quality issues to be communicated with one months (working) from receipt furnitures. Damages to Leathrite, rexin, Leather or Fabric due to physical misuse shall not be covered

Penalties-

- Delay up to 1 week penalty of 5% order value or penalty levied by BIAL to TFS whichever is higher shall be applicable on Supplier
- Delay beyond 1 week-2 week penalty of 10% order value or penalty levied by BIAL to TFS whichever is higher shall be applicable on Supplier
- -Delay beyond 3rd penalty of 10% order value or penalty levied by BIAL to TFS whichever is higher shall be applicable on Supplier

Completion / Delivery TimeLine: Final delivery for complete furniture by 10 Dec, Final Timelines subject to mock up approval and within 40 days from approval of mockup

Mobilization Date: 05/11/2024

Defects Liability Period: 1 Year from supply

Retention Percentage: 5

Escalation Buyer Detail						
Name	Mobile No.	Email - ID				
Abdul Rehmna	99202 92129					
Binu Balachandran	8452876061					

Disclaimer :

Point 1: Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2: Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ItemCode

ItemName : Furntiure for 080 Lounge as per mock up approved by BIAL

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1	SC-1	Furniture Code No. SC-1 Location RELAX LOUNGE Item Description Armchair 1 •Upholstery fabric as per image attached from Arc One, Mumbai •Legs in New Burma teak wood with approved staining	Nos		0.00	0.00	0.00
2	SC-2	Furniture Code No. SC-2 Location RELAX LOUNGE Item Description Armchair 2 •Upholstery fabric as per image attached from Arc One, Mumbai •Legs in New Burma teak wood with approved staining	Nos		0.00	0.00	0.00
3	SC-3	Furniture Code No. SC-3 Location SPORTS LOUNGE Item Description Armchair 3 *Upholstery leatherite as per image attached from Arc One, Mumbai *Legs in New Burma teak wood with approved staining	Nos		10.00	14,000.00	140,000.00
4	SC-4	Furniture Code No. SC-4 Location SPORTS LOUNGE Item Description Armchair 4 *Upholstery leatherite as per image attached from Arc One, Mumbai *Legs in New Burma teak wood with approved staining	Nos		0.00	0.00	0.00
5	SC-5	Furniture Code No. SC-5 Location SPORTS LOUNGE Item Description Armchair 5 •Upholstery fabric as per image attached from Arc One, Mumbai •Legs in New Burma teak wood with approved staining	Nos		12.00	16,500.00	198,000.00
6	SC-6	Furniture Code No. SC-6 Location TEA GARDEN Item Description Armchair 6 *Upholstery fabric as per image attached from Arc One, Mumbai *Legs in New Burma teak wood with approved staining	Nos		0.00	0.00	0.00
7	SC-7	Furniture Code No. SC-7 Location SALON - Reception, Nail Bar Item Description Chair *Upholstery fabric leatherite as per image attached from ArcOne, Mumbai *Legs in black powder coated metal	Nos		4.00	12,500.00	50,000.00
8	MC-1	Furniture Code No. MC-1 Location SALON Item Description Massage Chair 1 •Upholstery leatherite as per image attached from Arc One, Mumbai	Nos		0.00	0.00	0.00
9	SW-1	Furniture Code No. SW-1 Location SALON Item Description Swivel Armchair *Upholstery leatherite as per image attached from Arc One, Mumbai	Nos		0.00	0.00	0.00
10	HW-1	Furniture Code No. HW-1 Location SALON Item Description Hairwash chair •Upholstery leatherite as per image attached from Arc One, Mumbai	Nos		0.00	0.00	0.00
11	CH-1	Furniture Code No. CH-1 Location SPORTS LOUNGE Item Description Bar Stool 1 •Upholstery leatherite as per image attached from Arc One, Mumbai •Legs in black powder coated metal	Nos		0.00	0.00	0.00

	SF-19 D-LF-01	finish. Furniture Code No. SF-19Location DINING AREA NEAR PH-1 LINE Item Description Tall Chair *Upholstery fabric as per image and attached spec. sheet **Legs in SS Bronze Satin Rose Gold finish. Furniture Code No. D-LF-01Location DINING TABLE NEAR PH-1 LINE Item Description Dining Table *All metal in Rose gold finish	Nos	12.00	15,000.00	180,000.0 472,000.0
		finish. Furniture Code No. SF-19Location DINING AREA NEAR PH-1 LINE Item Description Tall Chair Upholstery fabric as per image and attached spec. sheet Legs in SS Bronze Satin Rose Gold finish.	Nos			
23	SF-18	Furniture Code No. SF-18Location DINING CHAIR NEAR PH-1 LINE Item Description Dining Chair •Upholstery fabric as per image and attached spec. sheet •Legs in New Burma teak wood with approved staining and PU	Nos	16.00	13,250.00	212,000.0
22	ST-01	Furniture Code No. ST-01 Location RELAX LOUNGE Item Description Side Table	Nos	22.00	14,500.00	319,000.0
21	D-LF-01	Furniture Code No. D-LF-01 Location LIVE DINING Item Description Dining Table	Nos	0.00	0.00	0.0
21	D-LF-01	Furniture Code No. D-LF-01 Location LIVE DINING Item Description Dining Table	Nos	4.00	29,500.00	118,000.
20	CT-04	Furniture Code No. CT-04 Location LIVE DINING Item Description Dining Table	Nos	4.00	29,500.00	118,000.0
19	CT-03	Furniture Code No. CT-03 Location TEA GARDEN Item Description Dining Table	Nos	14.00	27,500.00	385,000.
18	CT-02	Furniture Code No. CT-02 Location SPORTS LOUNGE, LIVE DINING Item Description Dining Table	Nos	15.00	29,500.00	442,500.
	CT-01	Furniture Code No. CT-01 Location RELAX LOUNGE Item Description Center Table	Nos	4.00	27,500.00	110,000.
		Stool •Upholstery fabric leatherite as per image attached from ArcOne, Mumbai •Legs in New Burma teak wood with approved staining				
16	ST-2	Mumbai •Legs in New Burma teak wood with approved staining Furniture Code No. ST-2 Location SALON Item Description Low	Nos	6.00	8,000.00	48,000.
15	ST-1	Furniture Code No. ST-1 Location SALON Item Description Foot Stool *Upholstery fabric leatherite as per image attached from ArcOne,	Nos	4.00	9,000.00	36,000.0
14	CH-4 & CH-5	Furniture Code No. CH-4 CH-5 Location DINING AREA Item Description Dining Chair 1 2 •Upholstery fabric as per image attached from Arc One, Mumbai •Legs in New Burma teak wood with approved staining	Nos	0.00	0.00	0.1
	CH-3	Furniture Code No. CH-3 Location TEA GARDEN Item Description Bar Stool 3 •Upholstery fabric as per image attached from Arc One, Mumbai •Legs in New Burma teak wood with approved staining	Nos	0.00	0.00	0.
12		Description Bar Stool 2 •Upholstery leatherite as per image attached from Arc One, Mumbai •Legs in New Burma teak wood with approved staining				

ItemCode

ItemName: Transportation, packaging, Loading at Rourkee, unloading at BLR T1, scope shall also include installation of furniture at Airport

Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
25					0.00	0.00	0.00
		0.00		0.00			